MAT1505-05 04S Quiz 7 Not!  Print Name (Last, First) |

Show all work, including mental steps, in a clearly organized way that speaks for itself. Use proper
mathematical notation, identifying expressions by their proper symbols (introducing them if necessary), and
use arrows and equal signs when appropriate. Always simplify expressions. BOX final short answers.
LABEL parts of problem. Keep answers EXACT (not decimal approximations, if possible).
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Since Pul is lager than [ S-Sl , the absolute value of the remainder,
 our fruncahon enor ‘g:w— N=10 is smaller Than Y x10™4,
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